66

H|153}

stLid LiEtel &k (2)
: Z|o} Z|MZto 2 RE|9] X5
. JB|AEOlo| LYX LS

1. shde] 7]:
shbde] MRS e A2 Aotof Sth@s7a, 13676),

2l = & f
F2C| 750 £ A5t0{ Lt

2. JAT B Be BASH AT 27T A WL 98
ERLEE DL EEOE

3. 4] Z& 20|14 vs Abgro] 2k 2o

1) Fash= A} AFEF (A]12:10~11)

A12:10~1110 Ui7FEE S2L 3h50f 2 S40| 10f 0|2 O[] L2 SiLtee| @it s at
Li2teh £ 19| | AL M|TLLIEHH L] R2| FHMSS F4sHE X = 22| 5t
Lt QroflA] g5 B AsHE X7 AR 11 E 22 RS0 01%' Fo| mlet XtV |5

0| Zeet= TH22ZM IE ol OS2 FIIIHK| X7 |S2| ‘4E =S Ob|X| Of

LISt =Ct



2016 HEV|SEMHY| 3] | F2| LIE[7t 5A 2D

2) Ateto] = F QAL A S wUA s AR o] = S A7 o U
o}71A) BHTH(&3:1~4, 1157:10).

5311~4 1 URIAE 0{24=0t= O{Z2f2] HAL o Al AFER2 9| QER 0| MM 2 X5t
£ A 0ZHM LA HOIALIZ} 2 0{Z 2PH A AFEOf|AH| O] ZA|E| AHEHO O S 247H

M HE MYsteet o FHES Bet 0{ZePHM HE MYst-2t 0l= S0|M HH 28

2l LHR7} OfL|LE 3l mhof] 3 0124017} L2 2 22 Y1 MAL ol M AUE=XI2E 4 0
SOPHIM A7| 2ol A K-S0l F-StAL 2 E2{2 RS S7(2t 5kA| 1 I 02 010f|
A OIZAI=| Lh7t H| Z[9fE HM7H5t0 HEI2L| A OFELI2 22 Y3I2|2t stAl7|=

12710 sl Stz 5t 2d2 22lg 20| gl= #-0 0127 5h= 27HE 0|F= Z0|

2 MY 22 MEE 0|F= Ao|L|zt

I_l
—>
H-|
=2
-I>
2
o
Ir
_>,i
=2
;
i
Y
kU
0z
l-_H
ol
2
Q
-
-
N9
=)
r
N
AL
>

£81~2112{22 O[x|
L= Of} 2= ofof] U= & mo| e H*OI IW“*QI tH01|/\1 HE sigsteisolzt



68

9218 9B A AL AL 71elska st el el

1) A2 AFF (F3:24~26)

£3:24~26 24 J2| AL 0f| 5 Qtof| Rl SO =2 U0|A0L stLiEHS| 2352 3 910 2 FCt 5tal
O E|

|
S g2 A =|U=L2t 25 0] of|~E SHLtEol a9 m=i FZ2Z 2= ot=A|
=2 M2 Ol= siLiEM M Zol E2Al= Sof T X2 2| E ZHstdez
| 26 2 O] wiof] Xt7|2| 2|2 RS LIEHLA R}

At712] 2|2 R4S LIEtLE 5140
At

L
7| 2|2 QA0 E3t 0 Bl X2 o|2C} 51 siAloj2t

2) Yol HA F= =T A (58:31~34)

£8:31~34 31 2% 0| 2of| thso] 27t B & 5l2|Q 2 SLtEHO| RIS ISHAH +
7t R2|E X521 32 At7| Ot OMI|X| OtL|SIA| D R2 2= AfEE 21510 LY
F4 0|7k ofm| 1 otz il 2E AS RE[0A| FAIK] OHL[SHA=LE 33 7t 5
5| SHLHEHIAM Efstel XSS nE5IEQ ofFCt 5H Ol= SHAHOIAIL 34 £7+
Z[512|Q =4 ¥ OtL|2t CHA| HOtLtA Ol= J2| AL OflAlL| O= St @H
off A& X2 L2|E fI5t0] Zh5tAl= XHAIL 2t

3) O]__\_?_E:_ {%_LQE_. _{": (gi-t—- /\]-Eo]’ (%838~39)

£8:38~39 38 L7} SHMBHL-L| AFYOILE HO|L HALSO|L AKIXHSO|LE SI) 2o|Lt Z2
Q0|Lt 5240|Lt 39 =20|Lt ZS0|Lt CH2 o T X20|2tE 28|12 2| = 12|
AL Of] Qtof| QU= StLEE S| AFOIM #EE & glee|2t

4) sy ool Lozt o4 o] o202 5 A8 whojol ST}

31416 12|02 92l IHHYS BT S ufet E= 23S 27| SAsiol 250 H5 |
i3 Lokt ZolLi2}
UU1:9 B2l 2207} 22| 5B KSR T 0WAID |24t 2] FIS ABHAID] 2218 2

= =2/0llM 75HA sHA Zio|2



2016 HEV|SEMHY| 3] | F2| LIE[7t 5A 2D

(7o) e AT 4T ASE TEAY £ Yol Ast
)
1) 9 =4l ol gholl Yot o] wAd wf 8= FE o2 4+ Ah(F3:17).

53:17 42| stLtE 0{s2t7t 9| Z7tRH|of| AAL] 2= 2 HIFEA MSXo[AlZL 27t H=2
Zo|ot 7|ES 0|7|X| ZotA|H{ HE ’SE*OIAFE*OMIM =z 0|0t £7{0| 20
7|w{stA|2|2} 512l

Be2:22 £t HE FH2 YES mlstd FE MRS 01222 B2 At=n &7 2ot fS
f

3) 29| F54L 71953 UL 218 RS A e iziof ST 12:4),

R S e
J

5[12:4 3|7t z[of MLE| OF% T| Z2|7(7HK|= CHEfSHA| OfL|st

69



A

2
q

tLteE Li2tet

o

cch
o

T
F—T —
I
5 o
- (o]
=<

I oN|
G

2z

=
TAFEHEHZHE) : 743l2] oft]
2.H|7|Smolufo] B=
3.84l0] otorst: AS

tlo

ER
| A

(

e
Dl2H=]
(@]

not-yet

AD
oloj
e

already

B.C

4
ag|AE
ERe
At

AA



